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&5 R 4 .(:.—,mé; Tinﬁb(z)o)ﬂﬁﬁﬁ j’(f,’fff R 4 Thﬁ:égz(d;;&? .Z,n%f jj(ﬁ,)ff)é R 4 .(Er,n-a; Limb(z)d)ttm 73(&3(33 X 4 Limb(zf)ttm .Z,S 73(&3({33
7 100kN/M%E#B A5 — -~ - —|3mEBRB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ - - —
zh st 1.00 | 0.00 ~ 458 57.09 | NS | 000 ~ 458 1.99 10.65 Th st 1.00 | 500 ~ 5.40 57.09 | #hds | 500 ~ 540 | 1.99 10.65
2 100kN/ M%E#B 2% — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ - -
zh st 1.00 | 0.00 ~ 582 72.79 | FhS | 000 ~ 582 1.99 10.67 Th st 1.00 | 5,00 ~ 742 72.79 | ThS | 500 ~ 742 1.99 10.67
3 100kN/M%E#B A5 — -~ - —|3mEBAB — ~ — — — | 100kN/mi%# 8% % — - ~ — —|3mZEEBAD - ~ - - —
zh s 1.00 | 000 ~ 764 97.93 | NS | 000 ~ 764|229 12.24 zns 1.00 ] 500 ~ 1036 97.93 | #hds | 500 ~ 1036| 2.29 12.24
4 100kN/mM%E#BZ%5 | 1.00 | 000 ~ 0.11 101.55 |3mEBZE| — ~ — — — | 100kN/mZE#BZ2 | 1.00 | 1261 ~ 1294 [101.55 |3mEEZD - ~ — — —
ZFhllst 1.00 011 ~ 789| 100.00| Fhis | 000 ~ 789|253 13.55 Th st 1.00 | 500 ~ 1261 100.00| FThs | 500 ~ 1294| 258 13.65
5 100kN/ Mm% Z % — - ~ — —|3mZEBZD - ~ — — | 100kN/ Mm% Z % — - ~ — —|3mEBZD - ~ — —
zh st 1.00 1000 ~ 774 99.38 | #nW4 | 000 ~ 774 2.37 12.70 zns 1.00 ] 5.00 ~ 1105 99.38 | £hb4t | 500 ~ 1105 2.837 12.70
6 100kN/ Mm% Z % — - ~ — — | 3mZEBZD - ~ — — — | 100kN/ Mm% Z % — - ~ — —|3mEBZD - ~ — — —
Zhilst 1.00 | 0.00 ~ 156 56.81 | #hst | 0oo ~ 456 | 1.90 10.15 Th st 1.00 | 5.00 ~ 5.00 56.81 | Fhst | 5,00 ~ 5.00 | 1.90 10.15
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/ Mm% Z % ~ ImEBAD ~
zh s ~ Zzh s ~ Zzh st ~ Zh st ~
100kN/ Mm% Z % ~ ImEBAD ~ 100kN/ Mm% Z % ~ ImEBZAD ~
zh s ~ Zzh s ~ Zh st ~ Zh st ~
100kN/M%E¥BZ % ~ ImEBAD ~ 100kN/mM%E#BZ % ~ ImEBAD ~
zh s ~ Zzh s ~ Zzh st ~ Zh st ~
100kN/mZ#8 %% ~ 3ImEBZD ~ 100kN/mZE#B %% ~ 3ImEHBZD ~
Zh s ~ Zzh s ~ Zh st ~ Zh st ~
100kN/ M%7 % ~ 3ImEBZD ~ 100kN/m%E#B 7% ~ 3ImEBZD ~
Zh s ~ Zzh s ~ Zh st ~ Zh st ~
100kN/ M%7 5% ~ 3ImEBZD ~ 100kN/mZE#BZ 5% ~ 3ImERBZD ~
Zh st ~ Zh s ~ Zh st ~ Zh st ~
100kN/ M%7 5% ~ 3ImEBZD ~ 100kN/mZE#BZ 5% ~ 3ImERBZD ~
Zh s ~ Zh s ~ Zh st ~ Zh st ~
100kN/m%E#B % % ~ 3ImEBZD ~ 100kN/m%E#BZ 5% ~ 3mERBZD ~
zhst ~ zhst ~ zh st ~ zhst ~
100kN/ MZEHBZ % ~ ImEHAD ~ 100kN/ Mm% B2 % ~ ImEHAD ~
zh st ~ zh st ~ zh st ~ zh st ~




